

# MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO.LTD. EHV PAC DIVISION-3,SOLAPUR

Name of Office: Office of the Executive Engineer, MSETCL, PAC Division-3, Solapur.
Office address: Old Mill Compound, Solapur 413001.
Contact No.: ☎&□- 0217-2723627 (P) 2322920 (H) 2345616.

E-mail ID: ee6250@mahatransco.in

No.EE/PAC/Div-3/SUR/Tech/327

Date:01/06/2023

#### **E-ENOUIRY**

Sub: - Enquiry for the work of Electrification of EHV PAC Division-3, Solapur office.

Estimated Amount in Rs. - Rs. 1,98,967/-only. (Inclusive of All Taxes).

**Date of Publication Enquiry:** - From Dtd. 01.06.2023 To Dtd.09.06.2023.

#### Dear Sir,

MSETCL invites offline bids (Quotation) from registered contractors /agencies for above said work as per schedule 'A'. You are requested to quote your lowest rate for the same via submission of quotation to this office on or before Dtd. 09.06.2023.

#### **TERMS & CONDITIONS**

- 1. Offer should be submitted via Quotation to this office on OR before dtd. 09 .06.2023.
- 2. Rate must be quoted including of all taxes & duties.
- 3. 5% security deposit will be required to be paid before affecting the work which will be retained till Guarantee period is over.
- 4. The rate quoted should be valid at least for three month from the date of opening of quotation.
- 5. The work/material must meet all specifications mentioned as per schedule 'A'. The quotation not confirming to specifications as desired below are likely to be rejected.
- 6. Right to accept / reject any or all Quotations or part thereof reserved by the undersigned.
- 7. The interpretations of undersigned on any matter of decision given by him on any disputed point will be final and binding on contractor.
- 8. The documents of an offer shall be written legible and free from erasures, over writing or conversion of figures, corrections where unavoidable shall be made by crossing out, rewriting initialing and dating.
- 9. If the bidder has any doubt the meaning of any portion of the enquiry conditions/ specifications, he should get it clarified from the office of the undersigned before submission of the offer.
- 10. Contractors are permitted to be present at the time of opening of quotations.
- 11. Quotation fee amount Rs. 100 plus 18% GST is applicable for submitting the quotations.
- 12. Attested copies of following documents along with offer should be submitted.

- a) Valid registration of firm under Bombay Shop Act and Establishment Act if available.
- b) Valid GST Registration Certificate.
- c) Income Tax Return of Last F. Y. Saral form (FY -2021-22/2022-23).
- d) Valid Electrical Contractor License.
- e) Work order along with Experience certificate for carrying out similar type of work shall be enclosed along with Quotation.

### Encl:- Schedule 'A'

Sd/(Amit Shinde)
Executive Engineer
EHV PAC Division-3, Solapur

## Copy s.w.rs.to:

- 1) The Superintending Engineer, EHV O&M Circle, Solapur. For information please.
- 2) The Superintending Engineer, PAC Circle, Pune. For information please.

#### Copy to:

- 1) The Manager (F&A), EHV (O&M) Circle Solapur.
- 2) Notice Board.
- 3) MF

# MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO.LTD. EHV PAC DIVISION-3,SOLAPUR

### SCHEDULE 'A'

\_\_\_\_\_\_

# Sub: - Enquiry for the work of Electrification of EHV PAC Division-3, Solapur office.

SR. No.	Name of item	Qty	UNIT	Rate	Amount
1	Supplying and erecting mains with 3 x 2.5 sq.mm. F.R. L.S. copper PVC insulated wire laid in provided conduit / trunking / inside pole / Bus bars or any other places as per specification No. WG-MA/BW		Mtr.	93	11625
2	Point wiring for light/bell/exhaust fan in PVC trunking (casing-capping) with 1.5 sq.mm (2+1E) FRLSH grade copper wire, modular type switch, earthing and required accessories as per specification No: WG-PW/SW		Point	552	41400
3	modular type switch, earthing and required accessories as per specification No: WG-PW/SW  Wiring for plung on hoard with Switch socket with copper		Point	610	3660
4			Point	116	3480
5	Point wiring for independent plug in min 20 mm PVC conduit with 1.5 sq.mm FR grade copper wires with modular type switch and socket and required accessories as per specification No. WG-PW/SW	8	Point	748	5984
6	Supplying and erecting modular type 3 pin 6A multi socket with safety shutter, duly erected on provided plate and box with wiring connections complete		Each	112	896
7	Supplying and erecting modular type 3 pin 6 / 16A multi socket with safety shutter, duly erected on provided plate and box with wiring connections complete.  Supplying and erecting modular type switch 16 / 20 A with		Each	160	960
8			Each	137	822
9	Wiring for plug on board with Switch socket surface/concealed type, copper wiring and earthing and with modular accessories as per specification No: WGPW/CW (16/20A Power Point)	6	Point	386	2316
10	Supplying and erecting PVC trunking (PVC casing-n-caping) of size 25mm with accessories on wall / ceiling as per specification No. WG-MA/CON, para no. 1.1.2 DSR I. No. 1-2-11 P. No. 14.		Mtr.	44	8800
13	Providing earthing with Copper earth plate size $30 \times 30 \times 0.315$ cm complete with all material, testing & recording the results as per specification No. EA-EP		Nos	6486	6486
14	supplying & erecting PVC Surface modular switch box with double mounting plate 16/18 model complete duly erected.	5	Nos	408	2040

15	Supplying & erecting PVC Surface modular switch box with double mounting plate 12 model complete duly erected.	5	Nos	343	1715
16	Supplying & erecting PVC Surface modular switch box with double mounting plate 8 model complete duly erected.		Nos	262	786
17	Supplying & erecting PVC Surface modular switch box with double mounting plate 6 model complete duly erected.	9	9 Nos	222	1998
18	Supplying & erecting PVC Surface modular switch box with double mounting plate 4 model complete duly erected.	3	Nos	172	516
19	supplying & erecting PVC surface modular switch box with double mounting plate for 2 module duly erected	16	Nos	128	2048
20	Supplying & erecting modular type blanking plate one module, duly erected on provided plate & box	50	Nos	21	1050
21	Supplying & erecting modular type Bell- push 6A/10A duly erected on provided plate & box with wiring connection complete.	10	Nos	106	1060
22	Supplying and erecting ding dong / electronic musical type call bell with heavy duty coil suitable to operate on 230V A.C. supply erected on polished double wooden block/sun mica block of suitable size.		Each	140	560
23	Supplying & erecting adopter for lamp holder 230v A.C. Supply	10	Nos	33	330
24	Supplying & erecting 14W, 230V integral type LED Lamp suitable for B-22 / E-27 base.	10	Each	309	3090
25	Supplying and erecting LED square / circular Max. 11 W down lighter/Panel Light having pressure die-cast aluminium housing, polystyrene diffuser having system lumens output of Min. 1200 Lumens, min. efficacy of 110 lumen/W, CRI>80, CCT upto 6500K, Beam Angle of 120 deg., max. ripple of 5%, THD<10%, p.f. >0.95, operating range of 120-270V, surge protection of 2.5 kV, Life class of 50,000 Hrs. at L70B50, including driver, having mounting arrangement with board for surface type or spring loaded mounting clips complete with 3 years warranty.	6	Each	796	4776
26	Supplying and erecting LED Panel Light(600mm X 600mm) Max. 30 W having CRCA powder coated housing, polystyrene diffuser having system lumens output of Min. 3600 Lumens, min. efficacy of 120 lumen/W, CRI>80, CCT up to 6500K, Beam Angle of 120 deg., max. ripple of 5%, THD<10%, p.f. >0.95, operating range of 120-270V, surge protection of 2.5 kV, Life class of 50,000 Hrs. at L70B50 including driver, having mounting arrangement with board for surface type or spring loaded mounting clips complete with 3 years warranty.	4	Each	2524	10096
27	Supplying & erecting ready to use Retrofit T8 LED 18 / 20 tube light with polycarbonate body, heat sink, integrated HF electronic driver complete & compatible to T8 / T12 LED luminaries by disconnecting starter & ballast if necessary. (2 year warrenty)	7	Each	627	4389
28	1-13-1 Dismantling the existing light, fan, bell, clock, independent plug point, wiring including circuit mains of all types along with accessories etc. complete as per specification No: WG-DM/PW	150	Point	7	1050
29	Supplying and erecting fresh air cum exhaust fan of light duty 250 V A.C. 50 cycles 300mm. 1400 RPM rust proof body & blades, wire mesh, duly erected, complete.	3	Each	1582	4746

			Total And CGST SGST		168616.50 15175 15175
		Labours Cess @ 1%		1669.47	
31	Supplying and erecting Energy Saving BLDC Ceiling fan 230 V A.C. 50 cycles1200 mm, max. energy consumption of 28W having service ratio (CMM/W)of Min. 8, PF>0.9, THD<10% with IR remote control/compatible speedregulator, Temperature Rise of Max. 40 deg. C, having external mounted controlPCB completely erected in position as per specification no. FG-FN/CF (Atomberg make)	6	Each	3811	22866 166947
30	Supplying Pedestal fan 400 mm. 230 Volts 50 cycles oscillating type complete with guard and regulator 3 meter. of flexible wire and hand shield type 3 pin plug top.	7	Each	2486	17402

<sup>\*</sup> Estimated Cost: Rs, 198967 / -. (Rs. One Lakh s Ninety Eight Thousand Nine Hundred Sixty Seven Only ) Inclusive of all taxes.

#### Note:-

- 1) % Rate must be quoted including of all taxes.
- 2) If the percentage variation of estimated rates is more than (+) 5% detailed rate analysis should be submitted if so desired by the accepting authority.
- 3) if there is any discrepancy in figure and in words the rates quoted in words will be considered.

Sd/(Amit Shinde)
Executive Engineer
EHV PAC Div -3, Solapur

This is to confirm that I have studied description of items in detail. I have visited the site made myself and conversant with the site & working conditions.

I am ready to execute the above prescribed work with.

1)	% Below [In words	] of the Estimated cost.
2)	At par [In words	] of the Estimated cost.
3)	Above [In words	] of the Estimated cost

Dated
Signature of Contractor with seal
Name:
Address: